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JIREATHN T FIITE (FID

SIfE $19.53.3038; I So ffG; 9= 90

01. T TR L T A7 @ FoRE O
BiGH
a) foefe b) FEF
) & d) st ans. B
[Solution JRIsIERTz RIS Coi o Ne i
AME OF IESF ICT | S@ey, AWES GFfo
*TH AT S [T T AT G ¥R AT
@ e 3 I% 7, ovd el aee |
02. foam fEae e
a) ¥ b) M
¢) I d) 99 ans. A
R R e few e @R
@ T @ FE Ebe = 1 e a9 &
6 | @t = Rewe e | @ s ww
R | QAT AR @ @@ S AT G
s foag a7 2 4red =0k | O, SN = F |
03. e =3 [F2re = @Wice

a) 9E b) g
¢) TR d) = ans. C
Soturion Rekeul
T Refere = g oo =
Eenct ERGl ST = / st
Ecal Az A %] / A
S AR Skl &l / erepid
sfeqE SR A5 eq | To5h
oA S5 il Sl
T A TEA A
T e e G
SRal 5 / =5 SR g
04. @ G o=
a) Sffs b) SO
¢) wfef2 d) sfeq ans. C
Solution: IiFRicwARIdae
FToH TS 7T bl 78
[ Foites Mo g i s
= i KIRIES ekl 2O
05. TS *To I [ORA @A
a) 0 + TS byt +3
¢) M + AF d) o + 9F ans. A

TN @, @, ¢, @ T #Ita @, @ FC TG
SR, S @R 8, @ A TAG O] 8 WY 2 |
@ O + OF = FAHF; @M + O = 7% ¢ +
T = o1 o + O = o) |

06. R QF TS (T | 9T RGE @ FEF2
a) TR FEE b) SAWE FEF

¢) SfFae FEE dHFfFaE  ans.B

Recent Publication

IR =1 e oy fpre, 9%e, wre, fwe,
T, TGS ¢ AFS T GR A (M (FE Or©
T, SR AAW FIAF 07 | (T
T8 AR (AT o1 #TT | (W (AT I 00 |
J21%8 A (AF TS (T | T (A 12 2 |
GO G (A T AR | (GF 0T &6 2 |

07. IEF @ SRt v A 5 IF2

a) *AFET b) T

¢) Mol d) TRSE ans. B
olution: SIS R IR-RIFR IS €3 Sl

76 ez w1 e oifve |

S, O = - 0T |

3. T = A - ¥R |

©. @ =T - ST |

8. (T = IS - WAT |

¢. Ao =(Ng-T9)

Y. TR =FEA - 5@ |
08. TSNS K 7 | IWBT 9= FAT e =7

) SN b) SFErS

¢) SRS d) SRS ans. D
AT A= | a1 oIz (T

TS 27 5 = sAEs

09. @9 IFEG T2

a) JfEAr b) &

c) = d) == ans. C
Solution FREa y Nl

O sfofrer e TRHGE =4
aSifaa ATy swifve ST AT
FHART e TR T4E RS
Frad AR foawma aeler GIH
10. @G A e TSoprefe

a) 99 b) sfs

) s d) ~fq ans. C

IR <6 <reem ot s asfbs o, =, o,
ST, O, W, W, O, Qe ©F (T), ¥,
3, 7, oifs, i, sa, am, =1, 97, 3, 7

11. 971 =4S qqrRifoa wf 2
a) ST b) ST
¢) AN d) 9f¥q 79 T ans. D

Solution: REC iSRS EEE RGP RE D i e
QARTS TS 2 IF N9 A Wa Gl 712,
s R Semg @GFE e A Praror
O | @t SfEF e &SI R 9% 2 |
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12. AT @7 Af o e
a) o1y b) T
¢) TG d) ¥R ans. B
RO <ot =it o offer, ol | “Soilet =icors =i
SIS, TR 4 |
13. TS @I TR

a) STASR b) T4
¢) TR d) SFE ans. B

[Solution: [eRIeE R SIRAS S CE R I )
ST 0 | (@3 R @ 1S = woRifs | Set-gee,
FTS-F, YI4-SCS , (ACI-RTaee Tomv |

14. ‘qFmet TS @7 ol e
) ST 30 b) EReTaR fa w
¢) ST “ATewT d) 9"t%a 98 ans. B

[Solution: KR aE s PR IGIRES LS o E Rt il
@7 ¢ T ETOTTH R | GF M (55) TRAMG
QT Fifed xS CACR, A (enifed *E
SRR G 28w Rerd o 21| geife
AF EHINST *0H e, G T A 3R
-, @I 8 GO S RETT 431 2 |
ToAR, ‘GFMe JTIS TS @RI T qFF
<=6 #Affgfe, @A eory fagd a1 T@etd I
AT |

15. ‘7 3 IvgrEca oL fee
) SPIY SIS b) GFZ VA ETIF
c) 9FOIR T d) IS W% ans. B

Solution:[RSIEE el S ilc et e s Rt (e g
BET Al GFL T SN | FR R A0 AMNHA W04
ACF, SR O AMFA O AR AR 5T
w1 G o ¢F @ qFol A AT
OIF | O, AT F2 IO @RI T G2
AR Al IR RGN G |

16. “TIoVTR TR BATITHE 1 &2
a) S ZA- b) RV @R
¢) *IGFS G d) IEFE FEE ans. C

GIOOE BT MeFo GHH (550R)
AMoe SIFT AT | ‘@rowe™ =BT SATIET
SRFTE AfFRITT o =P ST F4T
TR | @S *eF© ST FEHF TANET AT
Ao | T, S Aos T SHATPE ST
(5549), TP (So0b), A& T (5590),
7R G (5599), (TR @ (5599) TR
(55bY) Boifin |
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17. “IFER @F TNELF *17 (@io?

a) RO b) AgHT

¢) Tam d) ar ans. B
Solution: RECEESERNECRIRICE
18. ST *ioq o g e

a) T b) o7

¢) e d)y©= ans.D

IR <ot =wibe ids O, Gife, W |
19. T fmm @y =%
a) fFar b) eI
¢) ey d) fem ans.C
ROIIIE < farr Gamely = Foriair | 2T e Iee T el =
2RI (R 7Rl [ = fFmR |
20. @G T *772
a) qre=r b) =g
¢) ST d) (4T ans. Note
Yo, A, A foufs «wE e A
TREOGS *7 | WS TG OST *8 54, 74,
THA, 9, @F, W, WA, IF, (O, W,
R, S, R TSI | S (1T =G 9 1 |
21. ItisIwho ____ to blame.
a) am b) were
c)is d) has ans. A
Relative pronoun T wf6 Acwra wway
STHE G FCE | QETEN ACH T T o
Clause (& 3% @ Complex IR 6 A |
Relative pronoun €% #T4 Subject SISl Verb
T iR 1 99 Verb =0a ‘am’ | @ This is
the man who is my father. G4t “‘who’ ¢l
Relative pronoun.
TR o TR A ACF (AR RS T AR |

22. Ram as well as Rahim there.
a) were b) was
¢) has d) have ans. B

T As well as, along with, in addition
to TOJMM ARFCT @T Subject SRET Verb
[ERIECE
T W AN ¢ AR GG o |

23. Synonym of ‘Indigenous’ is
a) Alien b) Local
¢) Poor d) Modern ans. B

Indigenous ¢ (7R | Alien % o atad
T | Local 9¢ g_Iw A1 efei@ | Poor &i¢
4 | Active = T |

24. Antonym of ‘Gentle’ is
a) modest b) brash

¢) claret d) rude ans. D
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Gentle ¢ SWIfE®; TW; *@ | 9 @9

25.

Antonym T Rude (ST9H; #b) | 3147,

T A et g
Modest =9 e, fFeesE
Brash S
Claret TR 4Cefd oD =TT 3R
Antonym of ‘Pleasure’ is
a) pain b) happiness
c) well d) hypocrisy —ans. A

Pleasure ¢ W™, @7 491 @© ** Pain

26.

@/ @) g, Well @f o)
Happiness 94 3¢ | Hypocrisy ¢ Sar |
Which one is conjunction?

a) or b) vary

¢) out d) for ans. A

@ Word 7% 31 SteIfds Words, Phrase,

27.

Clauses, Sentences (¥ & I OANF
Conjunction 9T | 32 And, But, As, So, or,
Yet, Either, Neither, After, Before, Since, So
that, That o7 Words Conjunction FCA
IR© A |

____ the country is underdeveloped, it is
beautiful.
a) Although
c)it

b) but

d) where ans. A

ROTEE <<t fResrer <eaeet et 3, i g st

28.

o | e ST T TR, ‘the country is
underdeveloped” (076 SEre), @& fadr
SRTH T RCACR, “It is beautiful” (46 #9) |

QAT 2R ST Y ety SR Wy Ay
[ (AT AR | ONF CF@ Although (Ifre)
A T W @B G TRE@RFE 2
(Conjunction), & 4f5 t3=@rersf I&a& I&

AN

TR o e S s, ©ta «ft a1
Neither my brother my sister own a
car.
a) nor
¢) but

b) and

d) so ans. A

@ qHB @S Negative ((Roame)

ET ST FAR, @A F1 TR @ SNE O%
[ @V (@C2 N WTF T | AF Neither
@R Nor YT IAZS T GF6 (SIS AT
9T & | Neither ... nor & 9I&: = &BT, o
651 " @t w26 98 a1 Ifea @ roams o
ST FACS IS T | AT W Neither +
sub + nor + sub ¥J |

AT L S B2 AT @I I A 72 |
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29.

The prices of rice are .
a) raising b) risen
¢) rising d) raised ans. C

iR Present continuous tense € STRIIFE Verb

30.

ROTA “are’ SR T VI ‘ing” & T Verb
PTE | @A Raising o ST 1 Sr@r 40 |
SR T 3w ok Raising T&7 27 |

T e BICTE W AGCR |

Ihave ____ my supper.

a) has b) will have

¢) had d) having ans. C

Solution: BEIIESIC e Rt REC e A T w

FA02 | Sentence 5 Present perfect tense ©R
‘have’ @719 =1 Verb @9 Past participle tense
0 | OIR ST ST W04 @Y ‘had” =63 | 9F

Has «f6 GO 4T 4FITH (he, she, it) T TR
=, 58 @ subject “I°, OR «f 75 7 |

will «f5 e @ Fotr a, 58 Ay 9= @

have OIS T RSN FIGH 2T I T |

Had < TEA 91 TASITS T B FEA G FAOE
T | A6 IEA FE A Present perfect tense
oo 303 |

Having «f5 Present participle, 3T EaNs FH@T HEA
QT AT S T | «ff @A A5 7|

31.

He while I was reading.
a) come b) came
¢) has come d) coming ans. B

SSITed GG OIS F1e When/while 3T

32.

As (347 5d) 7@ IS =0T When/while a1 As
(I« W”I) & ==*f5 Past continuous tense 2%,
9776 =4 Past indefinite. $G&45, While “37@
Subject AFCT @ RN efaTEy | 78 While @37/
Subject W 40T AP Verb @t @7 AT “ing’

A
TR N S T4 AT S T & |

Past form of ‘Wear’ is

a) weared b) wore

¢) worn d) worned ans. B

Wear @9 Past & Wore @R Past

33.

588

participle 4 Worn I ¥ =S F41; #ITT |

Which is the Past form of ‘buy’?
a) boght b) buyed
¢) brought d) bought ans. D



Buy @9 Past @R Past participle Sl *C1T
Bought. ©1% A5 T&d T A+ d).
SR &3 Bring ¢ AT SR S I Past
@R Past participle € ¢ Brought.

34. The train is running ____ forty miles an
hour?
a) on b) to
c) at d) for ans. C
% a1 Grawr afstat™ (Miles per hour a1
Meter per hour Te71f) "Eﬁ ‘at’ AT |
R e GG BT TZ=T/T01 (J0ol HoMm |
35. Julia has beenill ____ three months.
a) since b) about
¢)in d) for ans. D

f4fit2 ™ (Point in time) 3ATTS Since
0T 3R R Afwe T (Period of time) JHTS

“for’ 90T |
AT L Gl Foe T 403 <7 |
36. Dhaka is becoming one of the ____ cities in
Asia
a) More busy b) busy
¢) busiest d) most busiest ans. C

One of the @9 “9 superlative degree +
plural form JCT| O AT, one of the busiest
cities (S, SEE superlative form = AFCTE one
of the-4d 79 plural form JGT | @I: One of the
books are missing. (IR GH6 FFAS) |
T e BT AR T4y O I *A |

37. What is the masculine gender of ‘mare’?

a) Mermaid b) Bear

¢) Stallion d) Dog ans. C
Masculine (¥ Feminine gender N T =T |
[QpeH

Masculine Feminine Masculine Feminine
Horse, Stallion Mare Nephew Niece
Gander Goose Drake Duck
Fox Vixen Swain Nymph
Sire Dame Milter Spawner
38. Which one is in feminine form?
a) Deer b) Bull
¢) Horse d) Doe ans. D

R << Doe (Fr ST 2faer ST =waireT)
(=T Feminine form.
Recent Publication

Masculine Feminine
Bull () Cow (73Y)
Horse (CHT%T) Mare (CIIG3)
Buck (2fer) Doe (Zf9r)
Wi Deer 26T Common Gender.
39. Singular form of ‘data’ is
a) dat b) datas
¢) datum d) none ans. C

dfeq ol (F FWeAS O™ Foreign
plural fTeTaa 3= wee F0a e @3 I

T ZLTAE SIEE Sy S
Singular Plural
Datum (8*18) Data
Agendum (51 1/ =Sy 31f5) Agenda
Alumnus (1% 2E) Alumni
Appendix (*faf*8) Appendices
Axis (ST%) Axes
40. What is the past participle of ‘arise’?
a) arised b) arose
¢) arisen d) arissed ans. C

A ARCIN Arise, Rise @R Raise @9
Y SRS SAET A0 | 06d =60 (e

Present Past | Participle
Raise (m; ARSI TUo | Raised | Raised
Fl; NS COFT; -
=)
Rise (937; 3 #ITeam) Rose Risen
Arise (G501 G3T; &foeT Afafafo | Arose | Arisen
BIERSED)

41. = SRFE FOON RYT IR B SRCFH RS
IR S@H FO?

a) 0000 b) &

c) 5000d d) So00b ans. C
RY IR(FA FROF TR = dooooo

BT ST 928N TR = Hobd

oed = 5000d

42. 5 TS S0 AT YNGR T2 T2

a) ¢ b) 8¢

¢) Yo d) 8> ans. A
Solution PRSI I AR (=R

S (A0 S0 7@ RANCTE TG

n+d Y+

=3 =T% =ee

S (ACF S0 7@ SRATGCE (B

=¢.¢ X 0 =¢¢
Alternative: SIEEIRSICH Q(nz;l) = % =55

589




43. OIEF SORER 10 @, OIEF (.5 T Oe) 62
a) 0.025 b) 0.25
c)25 d)2.5 ans. A
RO Cviel SR, ST = 0.5 TSI 10 @9 |
BT = %: 0.05

SR S, e = SIE® X SIoie
o O = 0.5 x 0.05 = 0.025
44. > (T vo e TG R TRAT WR?

a) »5 b) Sof6
c) 55 d) o ans. B
[Solution PYRISES ﬁé@>oﬁcﬁrﬁ$wmm|
S Gifere s | aiB cﬁ!ﬁa SR
3-0 204 81% (3-30)
-0 35593438 st b5 (5-20)
23-90 935 3f5 SofB(3-90)
03-80 03,09 36 53f6 (3-80)
85-o 85,8989 oft 3¢5 (3-¢0)
@>-%o @9, Jf5 34fB(3-vo)
-0 by, Af5 >5f5(3-90)
93-bo 93,99 95 oft 23fB (3-vo)
bd-5o o bd f5 385 (3-50)
53-500 9 Nid 2ef5(3-500)
45. \s +\s @@ 3 vor
)8 b) s
o\R d)s ans. A

Solution:JEEII=SN ISR NI
@, s @7 7 ==
(nf3)'=8x5=8
46. ¢ G TETR GG ARG STSIHZ. T TR
@ &9 3 bt et S AAfiEr ' =01?
a) WX b) So0
c) 3¢ d) S¢o ans. C
NI R 2T (T C QI ¢ BT =¢ X ¢ =€
Q4 (G BMT (7T = ¢ X € =S¢
47. 7 TiRE TR @ITFT 00 ZE, ST T
TS TA?
a) S0o
c)>sso
zrﬁr 2 IRAT x
fﬁﬂwﬂn(ﬂl)«mﬁnwm(ﬁz)
YO, x+x+1+x+2=33
3x+3=33
3x= 33 3=30

b) 3o

d) o0 ans. D

=
=
x:?:IO

IO, TR it T TG
=10,(10+ 1) =11 4R (10 +2) =
7T Fofod @oreeT = 10 x 11 x 12 = 1320
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48. @ SRS FHew?
D b3

39
c) 38 d) > ans. C

0‘ R
)Q,"\Q>‘R‘SIWW'€C°_‘IT‘§E q1

)Q
Se X 8;>w>weam)8mwl

3
38 ¢

FRoN S T 5_8

}ﬁ
>’§\9)<Q\9b‘ tﬂmwm’fﬁ o |

49. &% IS O G 3 HEH RIS ¢ SR T
FACET @ 000 BIFT I 6 ST | OF A F62
a) 20,000 GBI b) ¢ ,000 BIFT
¢) w0 ,000 B d) ¢ 000 5IF ans. C
Solution: EERaIsEEACE ST

W,xﬁ?%ﬁ‘(‘[—xtﬂ?%@{‘l:&,ooo
i—%:&,aoo
Ox - X
Y
x:oo,ooof"‘l?ﬁfl
50. AN ¥ @6 qEfen eom s @Ry | IEfew
wedE N ofS = O @e =W q @ fr | Al
BigiicERnEacH
a) X & b) © @&
¢) 8 @& d) ¢ @& ans. A
IR 51 A + o oo = 3 (e

%mn’?sonﬁ+aﬁﬁa\e. GG = q (@

d P
swwvrﬁa@ﬁ':a@@?

ITeaR 7)< A @& = ¢ x = do @&
- <IfE qEifeR @& = 33 — So = X @&
51. @36 wmerFEa AR 8o B ¢ &7 ¢

= ¢ 000

o =T, 7 T fbEe
a) R b) >¢
¢) do d) e ans. B

Y v SR, €6 Swerw@d AR 80
o | @7 og ¢ o=
S (TG + &F) = “AfEr

= (F +¢)=¢0
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2 M + Yo = 80
3G =80 - do
2 G = wo
W—m
a-b b-
“ab T he bc “ca

a) 0
c)%

R

52. ¢
b) 1

D5 = bc ans. A

b-c

Cc~q
O 2

be ca
b, b Bk B
b—ab+bc—bc+ca—ca
11111
~atcbhtae

|=

OU‘I-—Q

53. (x* + x — 20) < TAMS FA(G?
a) (x—5) (x+4) b) (x +5) (x—4)
c)(x+5) (x+4) d) (x-5) (x—4)ans. B
[Solution JERIR (CHPSHEERE)()
=x2+5x—4x=20
=x(x+5)—4(x+5)

=(x+5) x-4
54. b, 53,0, 93, 388 GF FIH.@ I©?
a) Wy b) 88
c) €Y d) 8bv ans. B

b, 3%, OV, A, 388 G .G, T8
81, 3%, 9Y, 93, 588
VIR, 9, 5,3, VY
©I1,5,9, 9,53
0R.5,5.3.8
3,3,5,5,R
ffaasme. =8 x 9 x 0 x 3 x =588

55. @3 @I faed vo© F( O PFF @I FO?

a) Yo° b) S¢°
c) vo° d) 20° ans. A
30° e fawe 60° |
(ICI B 90° T qF 6T SoRifoa 57
(P19 0T |

S 30° QTR 7 I (90° — 30°) = 60°
56. SRR FHON (T G2

a) 9o b) oI

c)%ﬁm 4T ans.D
Solution  RURHER S RGER SR L NEC AR Ea )N
ST 43 TR @6 o e B |

Wﬁwmaﬁm Wmm

SIS (37 frT)

_"nﬁ«mﬁﬁ 0.88 ﬁm’f

3 o

m@? 3 Tt

T WY e

ST STCT vy o

Recent Publication

57. @RI SRITATT (TR SR (62
a) voft b) wefs
¢) @oft d) 886 ans.D
[Solution JEERERCCRei- e R - JRC ]
¢t GFSRY R T AL o TRYA AHFo
SRR gt fog Twe +nd | @R ST

TS ¢fb SeCeT Ort F AT 2W:
"[{ e (East Asia) 5
Wﬁ“T—"ﬁ «ferr (Southeast Asia) iz
wifiFel ¥ (South Asia) 55
47 R (Central Asia) ¢f5
AP PRI (West Asia) 586

PRI (TR O SPIRTT @2 CSTCalfere
oAy oo STeRTAe |

58. =R A ek @I

a) TR b) Saeif
c) GOIFT d) ST FE  ans. C
WWW m ik
b b8y fioE
mvr nr?ﬂ? aﬂ?ﬁ ¢ bov fiBE
S Refergean ¢ pvo fitE
T St TEH et v 358 o
Wi SRS SRS v 5¢> fom
arifera PAE G 8.bb8 fibE
GBI fomm Tt 8,b5a fibmE
59. THRCEG FI B =2
a) 3bd b) >590
c) ddvo d) S5us ans. D

TG 5 T dvs 0T | BRI
eRfETF AITF @ FCOE (AF FATH
O AMH-2MCTE AYfSE THREs N =W |
A @7 e Ruawd I e
International Network @3 k%€ & Rowa
AN TR | THRCADA TAF TIRE dovo AR
(AE TF NS T SF© @ AT T Sps AF
(ATF | YT AfSTH Wed (T 928 Advance
Research  Projects ~ Agency  Network
(ARPAnet) 7] 3@ | @S o THeae
TS WL SR_N AT | TUgRy, A

2RI THECG 5] =T dodb I |
60. THRCEE I IACH A (7t @FHfG?

a) 59 b) &rffe

¢) AT d) oo ans. A
61. DT TR A Fo?

a) X000 s f

b) 8oo &M

¢) wooo &M

d) Woo & ans. Note
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[Solution:JRICERESEIRcE e R N
fFERGE (S0 9y M2+) | @ ey s fafeg
e qEr [ 2wl @ Wy @fFmenR
fir AT o e | TRebE oo ST
efsrwa o e T ot afeaf @3
SRFo® EH (e oo g | BT,
TSI 7 TG R b b8 RFCMGH |

62. S SR FAMG R AEF?

a) ¢S b) %
¢) 86 d) af5 ans. A

IR, <= e ¢f5 98 we ¢fF vz
FRCT 2] | S orer ferefe 2 s
Ao T T, TW, I, T{E qIR AR
FR0ET BTG IR e srefs, [ SfFAE
a1 ew Ao | SffeRe oReE 52 e
ST (7 (PRI (ol T QT A A |

63. ST AT (1T (PR TS =72
a) BT b) v
¢) I d) 1o ans.D

[Solution: PaKGRIE LRt nla o e R |
| YA R s A FF AT @
fermfell Ssv8 M (FAE  FONGLS
SEfB® 2 | 008 A 48 ¢ efewIPIom i
T fET whEET @R e ¢ T
(T |

64. it e s @R am 62
a) T b) “Gas
¢) foroa 77 d) THIR ans. C

o e oA SreitRe R
“foIBeT 977 AINE ARNCRGE @ (T ©R AT
358¢ I O[ APRIFCS “FI6 " NS
ARG AAARE @ T @ G2 TR 52
ST |

65. TSI Ry e SRfgs?

a) FEEfeEr b) SeE
IORIEEIEY d) &= ans.D

Solution:RlQleIaEReISEREPEGER IR E R
TGS | GF FT FHAFG AGEE @ A
G SRfES | @f6 R G5 Srow 928
ffeer, @ ¢oda ey see e frer
2B SIS 0 |

66. (P BT TP GO MATST IS 5
ST 272
a) &R Soft
¢) &R uft

b) &2 86

d) &2 ¢f6 ans. B

Recent Publication

AR A PN T @R
AT IRFCTTE TroR kS o T
O R IETa S A A A (@O
@Y e e sfafe =) afivem o=
RIS (ST 8.5) N G Al
lGTSET AR GO TRASHC (TS
T | ST SR So TR FP TRAS R ST 8
IR TG TRATS RN AT e i =7

67. QAT (I QS e Qst e <ro?

a) fergrratst b) GG WBw
c)ETf\_?IT d) Foatmar ans. B
CTONT AR FIRGE (ST
e GFae SHtEEa G e TofEe | «ft
JRFATACH GFA@ [T @i @ «fS e
SE-mERCeE 2o |

68. =7 @fba goifs 2 =i Fe
a) *=2v i@ b) TRFIE
¢) ARFTH GO M) TN = ans. C

Solution:JEISEE GRS AT Rl IR ol
T2 JACCE I ALHFCA R W2 I me
€T gfs | fof1 e o™ fRemestferar
W (SRR grrer 581wt Uife S
FE | AEATE GO W I OF AT (6
e S | 3598 e da WE fofy fezmE
TG T |

69. JIRFTHTHR &= SgET (AfFTES & fegere
) SESWH ARGW  b) TR ST
¢) OV TG TFN d) W@ 9El ans. C

CRV e E feem Syl
AEBAfS; OGS R R AqeE; 9.

Rkl SN fore o W@ |
W A
R e BN YR/ S-S
ST SR
o N, T St &
R (IO Sem &
S ZPIAIS (R SIS &

70. IRFACATIR &N AL CTArATS & gz
a) e (&A=t
b) feres s=w
C) (IR STSTCeT oifey @i
d) @35 GV G M ans. C
IR <ieToncea @l @i (RIS (Chief of
Army Staff) @ ce@ @@ awafg
e | fof Sferaa s Ao 1fe
37 (Fe=rz) eqm EmEfs Roera wikg
AR FCE | AATOR o fof g s &y @2
wIRCg fRET 1 559y T sq @l IraneE
Q2 T 2MfIS T OE WG 2T I |



o1.

SIffis 05.0%.20%¢; T Wo fifefs; s vo

‘eIz’ I At Roww Fie
a) ke + e b) f&s + ke
c) e + fBw d) fze + 9fzs ans.D

T R S-FE 27 IR AT -

FE AR Tord T o-F 2, oI Eqer
T[T H IS | @AW A + F = Of; 79 +
ST = WA | GFely e, e, v,

05.

@A oy fofes ot w72

a) e AT (ATTT b) TN 22O fWE

C) ST 2= d) SItEF FEF ans. D
Gieq AR A WEAF TP SATPAGE
ot N A TGO S ACHE | O

M SATPITE T ‘1 Redeea (e’ , 99

froifze Toif | 06. A 74 7 79 AS ARLT A0 AR @
I ¢ Refe-
02. TS Toprefy T
i a) kS b) = P
a) T b) & c)a'c*-fm d) S 7 ans. A
st < ans. C | CAmmms amis @ Remy 3 S A e s
zrﬁwarisvmﬁ?z oA | 0 O TR 61 A1 TGS | TR T G A
=n°a1 .nﬁ o, o, W&, o, o wmw M, TS, o AT e & & T A T, O3
oot B N L W|mma§m|(@fw?cw-
SO PR &, o, [, 9@, &, 7, 74, @, 7 IOIAF) | CFA Fo1 (O | (IR COIC=T?
S | 2 | e, ik, off, o, Bt o, W, wfs, S (TR FEFRF) | TP Fifom i e
- o, v, 7, fm, e, @, @ SR 1 Fetes 3B G | AL A G |
.3, Taora fesfes SIS @S TA |
o | &I - S, AP, W o oN [rores SILE M0 & FT& 23 A |
Bopie e SO [reres IREFCE WS TCA |
=y e 7, €, RE, 9 A% [qores S ZCO @ TG 264 Al A4 |
T [eres S AT ZH A |
- = S [qeres “AISICE fe 30 |
03. TR G TR 07. ASDY *T7 FALE *77 (FA(6?
a) Tifire ety b) FoRE T a) TP b) ™
¢) T BRI d) S 7R ans. A ) f¥fo d) s ans. A

Solution:GEERCCERC oD R cRvp e wrE R

04.

TN @ SWPT =, OiE Goifire e st
QT (Q CFEE AT @ofbrE SR 0 (e TF)
Q ST ST #fG =T8I0 | 8 2 5THA TR
=594 | N PReEE T = PrR=e@w | v I
TR = bAUIFT | G ST, TS, T,
A, ARE, AT, TR, FAE, AW,
W@ﬁfﬁl

TG o SR I (P62
a) SR b) SfEmET
¢) TorFd! d) Rifefafer ans. A

[Solution: ENIECEEEGaIeR DR SR DTS

(55R2) | @ INITT &N FOl “eFRERT |
@R @ FE GO @ eqi FiFl, T do3
e MeRe  ReE dfaen emife =)
s FRREt Gt et ammeT
@eE ST FE | Sy, Reem A (5538)
TaeFeT fRmPe &g | ‘e RN (S5 o) agfba
G TG & WY FE[ (ST FCE | A TG T
TR (550 R@IR &4 F17 |

Recent Publication

‘arm mew,wﬁﬁ Gcol

08.

SR, SR, TP, VFo, THIZ TN |
“ﬂwwmaﬁﬁwm @ @R

T2
) 4T AT b) &f5= AT
¢) Qo AT d) I ans. A

T A QRN SRUNE (N A, FC,

09.

593

GR AT T IR GIo T
I | GF T O & A9 T(A | OF ACHA
MR @R FA () I A | T AT IS
FA XY A IO SRH SCIRG ORI T
ST =T 7| @R (T TG I TG TOF
FCF | Ty, @ ey 1 A, OR [
AR | 33 mewﬁwml
JRE S SR TR TERST (&2
a) FRCFET b) TG TFT
¢) WIEE= NPMA 16 d) G ans. C
T AR QAN W) (EAMEY G
IHITSl TGP W we | EEEd
(TEFMECLT 2 RLCAE SGqW HCA |



10.

57 @ I ST

a) IR b) Ffoei@
¢) oG d) @q ans. A
Solution: 1o SR
EREl SAifS ST s
o=t EREGl fsqfe SIS
E feraet ey
Tt TR =S =
11. The view ___ the open window is very
pretty.
a) through b) by
¢) for d) along ans. A

@tZg Open window ftar & VEIETET (AT

12.

JCE O TO® Pretty, O fm RS
Preposition T A g) @3 through 23 |
AR L @E e e ke 99
SCTE |

‘When the police arrived, the criminal ____
already escaped.

a) had b) has

¢) have d) was ans. A

T SR When the police arrived

13.

@R Past indefinite tense €3 %7, ©IR AT
Se*ifs R S Past perfect tense <& A7
T@ | R RROTE the criminal €F °Td had
already escaped 209 |

ACFT Sy T Sffert (SATRICET, SR TroTTey
Aferea Picafeet | 1

Identify the passive voice ‘Never tell a lie’ -
a) Let not a lie ever be told.

b) Let not a lie never be told.

¢) Do not tell a lie.

d) None ans. A

Active @ Never U< Passive 9@ Ever

14.

(A | @] 40 Imperative sentence (F Passive
Active: Never + V; + Object.

Passive: Let not + Object + ever + be + V.
TR S FUCAT T A A |

He said to me, “Do you know me”? —
identify the correct indirect speech?

a) He asked me if I know him.

b) He asked me do I know him.

¢) He asked me if I knew him.

d) He asked me did I know him. ans. C

Interrogative JF5F Indirect speech @

R CF0@ Reporting verb f5 Ask, demand
of, want to know, wonder ¥SJIfwte #faers &7 |

Recent Publication

15.

16.

17.

Reported speech f6 Auxiliary verb @RT ©% 201
Linker &1 “if” A1 ‘whether” 07 | 914 Direct
speech @ Interrogative I3 Indirect speech
@ Assertive I3 A =7 |

AR 9 G WS e, o 5 owwns
foeare

The correct translation of ‘GT TSR FGTS
G A |

a) He doesn’t know swimming.

b) He doesn’t know how to swim.

¢) He doesn’t know how to swimming.

d) He doesn’t know to swim. ans. B

Know-49 “4 verb «t=T ©f know how to

+ verb U9 base form JJIR® 2 |

Which is the noun of the word ‘beautiful’?
a) Beauty b) Beautify

¢) Beauteous d) Beautifully ans. A

‘Beautiful” (379) =T “adjective’.

‘Beautify” (374 41) T “verb’.
‘Beauteous’ (394 (¥TSTR) =T “adjective’.
‘Beautifully” (PISFHSIC) =T “adverb’.

Ten hours ___ too long to wait.
a) is b) are
c) were d) none ans. A

Time, distance, weight, length, money

G GFCFE IA(B (F4CS Plural 208 T4F T&
TEE «F61 Unit Rewd @ =@ o= @I
Singular verb &2 F4 | (AN

Three hours seems a long
time to have to wait for the
next train

Six years is the maximum
sentence for that offence.

frg, TEE GF@ T JRACT AW SAEMSITT
JRC Plural verb &29 04 | (T8

Six years have passed since
I met you last.

18.

Two hours have elapsed
since he fell asleep.

AT AL S A G do T2 AHE (@
S|

Which spelling is not correct?

a) Fulfil b) Wellcome
¢) Program d) Quarrel
(5% I ZET Welcome.
Fulfil [

ans. B

Program [ Quarrel ]

B ek

FrtE; T rgr; fam

594

19.

Choose the correct sentences-
a) Everybody have gone there.
b) Everybody are gone there.
¢) Everybody has gone there

d) Everybody has went there ans. C



JRECA S e @6

AT T FRrwe STy

I8 Qbr.0R.203¢; I Wo A G; s vo

01. TENGT (I AR I {2

a) T G b) SEG *RERICAT
¢) SBIG WA d) SEFTE ans. D
SFTGT TGN AR TS o 1

| S SN e SR A e 6 |
A AT ARAFE ‘@RI A @RI e
wfeRe T4 AR | I WG A0S &P TG
‘SRS |
02. ‘PRISETHE THFT AoTFR?
a) fatseTeT I b) ffsv% T
¢) T (NG d) [ Gig@  ans. B
@ | ToHO 35¢d TR fCrma AT Ao =
G SER T GG AT TR (R
AR T26g 23 | ACHO IR GFCC F6
U S T dpue (¢, d9a)) I |
39¢q AT 0 G, AT ARE w9]
T M R Ioa NS A
WTWNW‘TWW TqW R
JREE FATOR S @ AR | TR I 8
AGTEE PRwE oY &ed 9@ Gefis 9T
FE WA FEE PRGSEET | @] A6
FIXS, TEIG @, ST @0 & |

03. ‘REmrg @S-
a) NIFeT &Y. b) i a9
¢) 2fezpT SA Tormeid) SgERe  ans. C

Solution:REREIEELNeeoE R G Rt (o)
TR | M- (Svve-5y) @36 FeEpT
TS TP | T ¢ @O 0T AINE
Sy AR @FNE @ &g sEEEr
YT TEFA T AR TN THH-ECTAT Fel
TR Rram-Frg arcg 3fe 37 fw

04. SR @1 A oSN
a) 3Y b) 5T
c) FU d) Ty

bfere A (AfiBTs

S A ATIGRN | e T=A AL @ TS S G1 L 148 ¢
waam—warwaﬁ&cmmﬁ—fﬁ FETE S[@ATZ
I BT Ww0! AfRIES F2 7S IR
[ @ e wed =maeet
See AMe WS ¢ TRGG GR qGOl, SFP-SIEToN 6
ACPRATA & @ Sorarit
| 3¢ AST® AT FEAT 6 (G BeTS NOLS NS 6 TREGeq
F TS <04 | 98 {0y @ v cvras @i 9

ans. B

TS SRR @RI MET RS A 92O & | @ (ATS, AT,
wafee Topfn
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05. @G TGN FHL FNCR SHIZRel?
RICES b) =
¢) SERFG d) TR ans. C

BT CT = BT &S FIOT | BTy, @
T ST YERLET TGS 2, OE

TG FHLRT 0T 90T | (@ ez fofee
S = P, sifzer faes s = sTifRepter,
IS THCS G4 = “Jrowny Toxifir |

06. ST =57 [oids =17 @i
a) ST b) frsa
c) T d) vz ans. B

Solution: R EltE RS R G P IR G LN
TR G ANEF * ZCE WL adl; AT
Sfres AP S (GRF RARA);
SPHTONATY | A, T G JA6F * =TT
eI | ST @ S RO T T + ¥’ =
AT |

07. TSR TRF (&N IAE @ [ofe?
a) S FTECE T b) TSP G
o) FHITCE 75 d) TS 77 ans. C
R v [ofe | e wew wea w91 T
T A, OF I AT AT | I/ FE Y
TACET FAEE AT T |

08. “TIIE IS W A WA~ IFBCS THIT

(B (P IR @ o2

a) TS (@O b) FAMA FECE 9

¢) I qfr d) Sf§Faeet 31 ans. C
09. TERS 2

a) ToF b) F_T

¢) *mmfer d) AR ans. B

afve sy vHEer | fof w4 SeerEE S
BT R 2l =TT ST | SHIaST T
TR AERU S TREeE A
IR O] @ I IS AR | NG
M9 T SR TGS AT FY
T A |
10. T3P N8F By 2
a) “fe® b) fRveieE
¢) *EE d) TRNEATGE ans. D
Solution BERICESIN B ESECACT SR RSN IR
SR @ JRE ARCoE Jo=FT Mol 2T

635



